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—=XU(RH=S)aot+=Ee3
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—sAl2elZHIRXH| 17,153
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20,0003 x22H »422 x80%<E &> 14,784
203 HR=H] 1,800 1,800
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJI23t BN U HIRS)
8,500 x600E +80%<E 2> 4,080
OIR4UEZ+TLESE0UTRY
6502 8, 000 +80%<E 2> 4,160
OJ2SetSASE UL MY
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—SH0EE 570,000 1CH 570
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480,000 *1CH 480
—OHEE)) 200,000 *1CH 200
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Al 24,500
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Al 22,500
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206 M=l 5,000 5,000 0
Al 2,500
- 2,500
01 MZH| 5,000 5,000 0
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- 2,500
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Al 20,000
T 20,000
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- 19,786
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428,000 428
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Al 910,656
- 160,704
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- 160,704
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OEAM=xY 1,062,321
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Al 166,946
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196,407,000 196,407
Al 166,946
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Al 15,054
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OEAl==dAY 1,328,000& 1,328
Al 1,128
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- 5,959
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Al 17,875
- 5,959
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23,834,000 23,834
Al 17,875
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Al 34,692
- 14,868
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- 28,000
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03 Al 2 THHI 300 500 A200
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OBA=NBRLU(BHRHESLE)
418,088, 1602 =80%<& 2> 334,471
OM 2R QUIRUBUHEHSSEE)
139,900, 0003 »80%<E 2> 111,920
201 er23 | 431,407 362,001 69,406
01 At2teltl 65,870 64,917 953
Odgt+=ZH| 4,120
—SHOISUHUHS RO E A =
50,0003 4007 «80%<E 2> 16,000




2A: Xl
PAp. TASE =4
ol st 2SN 4 o 22
CHE . C(BIH) - HIRAY - BAS ﬁgﬁ
EEE P
20, 0002 x 10«20 »80%< A 2> 3,200
—ZBELTY
1,000 %2, 000 +80%< & 2> 1,600
—ZRALADRERN(DIHE)
7,000 500K x80%< & 2> 2,800
—HDIEX2eI=E=2
54,000 * 100= *80%<& 2> 4,320
—ROIAHIAIAEAIZZ (A S 2EIAL)
100,000& 128 1,200
—O{BI0|=s0|AIEAD|IHRAI A B LA
15,000,000 15,000
OYUxt= 21,750
—SJZAZZ2BEHYIY = 21,450
- 2A1(0.6m) 770,000 %10 7,700
DAXATHI.5E) 660,000 x10& 6,600
ZIAHXHEE) 715,000& %10 7,150
—AHLI|UXS(AHSZ2IAL
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—&Iea 135,600
o202«
100, 000 «44 0l A+ 122 52,800
OHg01RI0| 22
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- 15,000
— 238X 50,000,000 50,000
Al 35,000
- 15,000
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Al 13,000
T 13,000
SEU SS3EA 2 60,240 30,240 30,000
201 Let=23 | 60,240 30,240 30,000
01 AtR2te|Hl 30,000 0 30,000
Odgt+==H| 30,000
—=2=kFNE 15,000,000& 15,000
— S| A2 EFY(HA LEDS)
18,750,000 x80%<& &> 15,000
2 s5=g4l 30,240 30,240 0
OAlE &I Xl 30,240
—SdUSSAZF s
30,240,000 30,240
eI SJAEHIALZ (AlHI) 105,000 105,000 0
Al 73,500
- 31,500
201 Ler23 | 20,023 20,023 0
Al 14,016
T 6,007
2 s5=4g4l 20,023 20,023 0
O3S2sALMAM(ZXZES) 20,023
—dIIes 1,200,0002 122 14,400
Al 10,080
- 4,320
— &= R23 120,000« 12& 1,440
Al 1,008
- 432
—Sties 20,000& ~12& 240
Al 168
- 72
—2sHelAld2e|sY
300,000& * 122 3,600
Al 2,520
- 1,080
—AE21 X815 0156t
2,593 %131.99m* 343
Al 240
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SH9l: AlRIS 98t BR=K X4 U 2l (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 103
401 Al HIZL S 0HHI 84,977 84,977 0
Al 59,484
- 25,493
01 Al&HI 84,977 84,977 0
O SHSAIEEHIAL
84,977,000 84,977
Al 59,484
- 25,493
LI =3B F X2l (AlLl) 100,000 100,000 0
Al 70,000
- 30,000
201 fer=3| 20,000 0 20,000
Al 14,000
- 6,000
02 35244l 20,000 0 20,000
OIS TAN LIS
20,000,000 20,000
Al 14,000
- 6,000
401 AIEHIX R0 80,000 100,000 220,000
Al 56,000
- 24,000
01 AlZ2H| 80,000 100,000 /20,000
URI2HBAN LY =T 22
80,000,000 80,000
Al 56,000
- 24,000
U2l 0IS3EHIAI (AlH]) 80,000 80,000 0
Al 56,000
- 24,000
401 AIEHIX SO 80,000 80,000 0
Al 56,000
- 24,000
01 A28l 80,000 80,000 0
OO0l S22 EHIAI 80,000,000 80,000
Al 56,000
- 24,000
2S=RMEHSZ A 100,000 100,000 0
Al 70,000
T 30,000
401 AIZHIZ SO 100,000 100,000 0
Al 70,000
- 30,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 100,000 100,000 0
O2E=NdEHeZ e
100,000,000 100,000
Al 70,000
- 30,000
SEOAHISEAXIALY 20,000 20,000 0
Al 14,000
- 6,000
401 A2 HIZL 201 20,000 20,000 0
Al 14,000
- 6,000
01 Al&H| 20,000 20,000 0
OSdAHI SR EX ALY
20,000,000& 20,000
Al 14,000
- 6,000
ZE M8 x=d 1,793,230 3,008,037 1,304,807
= 446,463
Al 662,391
- 684,376
gite 28 € B 1,793,230 3,098,037 /1,304,807
= 446,463
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- 684,376
YA (=HI) 24,100 24,100 0
= 12,050
Al 3,615
- 8,435
401 AIEHIX SO 24,100 24,100 0
= 12,050
Al 3,615
T 8,435
01 Al&H| 23,282 23,282 0
OXEAr 23,282,000& » 14 23,282
= 11,640
Al 3,493
- 8,149
02 Zeld| 623 623 0
OXEAr 623,000 623
= 312
Al 93
- 218
03 A2 CHYI 195 195 0
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Al 23,831
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Al 36,113
- 9,600
101 Q14| 11,427 11,427
Al 9,027
- 2,400
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O dGUHEEESEE)
11,427 ,000& 11,427
Al 9,027
- 2,400
401 A HIL20HH| 34,286 34,286
Al 27,086
- 7,200
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O ZAIZAH 33,282,000 14! 33,282
Al 26,293
- 6,989
02 Ze2lgl 1,004 1,004
OLYL T AIEASA 1,004,000 * 14! 1,004
Al 793
- 211
MEEHEINE ALY 52,713 5,713
201 LEt2HH| 52,713 52,713
01 A2l 16,766 16,766
Oget=gH| 14,016
A2 ADE (Y, YS105)
10,000& *300H* 105 *B0%<E 2> 2,400
—MEESEHLS
30,000 * 1000 *80%<& 2> 2,400
—AEAMANCISHAZETHE
120,0003 #43| * 12 *2JH 2 x80%<E 2> 9,216
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A SE=SAL
B Z= e 54
el AR XN Y 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,7%
T 8,855
M ORIMZZ2NSE S 25,300 24,935 365
OL S0 HYTIEHoI 2
(HHEE=2SZE) 25,300,000& 25,300
= 12,650
Al 3,7%
- 8,855
SO SHZ UM E (X=2/=1) 560 1,026 468
= 280
Al 84
- 196
206 MH=HI 560 1,026 A466
= 280
Al 84
- 196
01 MHZHI 560 1,026 A466
Ot SHZ LM (S MM ZHIS)
560,000 *14] 560
= 280
Al 84
- 196
ABHHNSLMAIS (=HI) 25,905 40,050 14,145
= 13,175
Al 3,821
- 8,909
202 04| 2,500 2,500 0
= 1,250
Al 375
- 875
01 2L AL 2,500 2,500 0
O SHELMA =L SHATIESS
(] 20,0003 »5& x252 2,500
= 1,250
Al 375
- 875
206 M=l 3,000 3,000 0
= 1,500
Al 450
- 1,050
01 M=4l 3,000 3,000 0
OgetdoiSLMAIE (HMMZ)
3,000,000 %14 3,000
= 1,500




A SE=SAL
Zm: 22 Jg X4
el AR XN Y 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 450
T 1,050
401 AIZHIZ SO 20,405 34,550 A14,145
= 10,425
Al 2,9%
- 6,984
01 Al&H| 20,405 34,550 N14,145
OLErH ol S 2 HIAY (X144 100ha)
20,405,000& 20,405
= 10,425
Al 2,9%
- 6,984
A HHSLMAL (AlHI) 4,000 4,000 0
Al 2,000
- 2,000
401 AIEHIX R0 4,000 4,000 0
Al 2,000
- 2,000
01 AlZ2H| 4,000 4,000 0
OLHEEHSLMALS 4,000,000 4,000
Al 2,000
- 2,000
ZESRL0ISEHEAIH (=) 19,056 18,760 2%
= 9,528
Al 2,859
- 6,669
101 e124d| 14,8% 14,560 2%
= 7,428
Al 2,229
- 5,19
04 JIZtN2 2N S 2+ 14,85 14,560 2%
OZESRHOISHSEAEAEY
CUHEERSEE) 14,856,000 14,85
= 7,428
Al 2,229
- 5,19
201 et 3| 4,200 4,200 0
= 2,100
Al 630
- 1,470
01 AtR2t2|HI 4,200 4,200 0
Odgt==d| 4,200
—HHSRH0ISHENL(AEES)
4,200,000 * 14 4,200




A SE=SAL
Zm: 22 Jg X4
el AR XN Y 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,100
Al 630
- 1,470
AUSHESELMAIS (=HI) 14,286 11,042 3,244
= 11,857
Al 729
- 1,700
401 Al HIZ R OHHI 14,286 11,042 3,244
= 11,857
Al 729
- 1,700
01 A28l 14,286 11,042 3,244
OALIRMHE S MAL
14,286,000 14,286
= 11,857
Al 729
- 1,700
ALALEHE 2ol EH(=HI) 62,018 61,138 880
= 24,807
Al 11,163
- 26,048
101 @124H| 62,018 61,138 880
= 24,807
Al 11,163
T 26,048
M ORNZZE2NSES 62,018 61,138 880
OtHAEH B EoE I RY U EE S SEE)
62,018,000& 62,018
= 24,807
Al 11,163
T 26,048
AZ A (=H]) 193,754 200,757 A7,008
= 135,628
Al 40,688
- 17,438
401 Al HIZL 201 193,754 200,757 27,003
= 135,628
Al 40,688
- 17,438
01 Al&HI 187,762 195,419 NT,657
OArZ At &1 & 187,762,000& 187,762
= 131,433
Al 39,430




A SE=SAL
B Z= e 54
Selr MEAE 2d ¥ ES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 16,899
02 Zeltl 4,675 4,049 626
OAHZ AL 4,675,000 4,675
= 3,273
Al 982
- 420
03 AlESTHYI 1,317 1,289 28
OAHZ AL 1,317,000& 1,317
= 922
Al 276
- 19
SS+FHIAE (AlHI) 20,000 20,000 0
Al 14,000
- 6,000
401 Al HIZL S 0HYI 20,000 20,000 0
Al 14,000
T 6,000
01 Al&H| 20,000 20,000 0
2o -SHIAY 20,000,000 20,000
Al 14,000
- 6,000
MEXTSHHAR =L 2 (/=) 28,940 20,940 8,000
= 11,576
Al 5,209
- 12,155
201 er2 3| 18,700 18,700 0
= 7,480
Al 3,366
T 7,854
01 At2tltl 18,700 18,700 0
Odit==H| 17,500
— I ZSEH(ELAS)
375,000 362 13,500
= 5,400
Al 2,430
- 5,670
—MENESESHH
400,000 %105 4,000
= 1,600
Al 720
- 1,680
Oa4il 1,200
— A0 SS A
8,000& 150 1,200
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A SE=SAL
mE: =2 MY EN
el AR XN Y 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 42,485
T 99,135
M ORIMZZ2NSE S 236,035 170,226 65,809
OLUEHZUL SR NZZRHEE S
U2 SEE) 236,035,000 236,035
= 94,415
Al 42,485
- 99,135
MEH20 LS H2S (=Y 9,653 9,653 0
= 3,861
Al 1,737
- 4,095
201 el 9,653 9,653 0
= 3,861
Al 1,737
- 4,09
01 At22t2l] 8,582 8,582 0
Ottsdz0gdsU2 2=
390,000 x 102} 3,900
= 1,560
Al 702
- 1,638
ogxz 4,682
—ASEHYESE YR
4,682,000 1CH 4,682
= 1,873
Al 842
- 1,967
2 s5=34l 1,071 1,071 0
ORI 1,071
—AEHYESANERF
1,071,000 *1CH 1,071
= 428
Al 193
- 450
SHE YA 102,697 98,857 3,840
101 21AH| 67,707 63,867 3,840
04 JIZtN2Z2XNSE+ 67,707 63,867 3,840
OUESZARUFLGUHEERSEE)
88, 1603 *8H x 120 »80%<E 2> 67,707
201 Ler23 | 34,990 34,990
01 At2teltl 29,310 29,310
Oggt=3=H| 15,670
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= K1t

H=xd

=X

[0 [0 01
fon ton 0

e

RN - I BRA(E) - HRA - BES of v A
201 er23 | 19,255 19,057
01 Al Z2lH| 13,690 13,49
OYer+2H| 1,390
[ r- Y P
302,500 * 122 3,630
—ROIZHIAIARAIZ 2 (30 A)
340,000 * 122 4,080
—ABOIEEE
40,0002 1284 1,680
—HEEEARE2ERY
500, 0003 53| +80%<E 21> 2,000
ogxz 300
—HE A 2E ISR E
25,0003 *1CH= 128 300
O=g=+¢g 2,000
—HEggsIAse
100,000& x1 Al 2H+202] 2,000
02 3224l 5,565 5,565
OZ2Z223ZHAl 3%
—d3e= 33,0008« 128 3%
OAEZHIR X 5,169
—HERXIBI(20E015t)
3,100&+1,022. 17m’ 3,169
—AHAEKAH(HIALHI RES,
ZX121) 500,000& 22 1,000
—dHBAIEF X 500,000 22 1,000
206 =4I 4,080 4,080
01 M=4l 4,080 4,080
O&AIZZe| L EXDIXHE M Z 4] 4,080
—CIPIMENEFY
15,0003 x340H «80%<= &> 4,080
HE=sMHEMEE 24 25,619 25,277
101 e124d| 17,139 16,797
04 JIZtN22 NS84+ 17,139 16,797
OUHESMIAHER2ZALLCUEEES
=8 88, 1603 » 1 2432 »80%<E 2> 17,139
201 L= 4,480 4,480
01 AFS2t2ltl 4,480 4,480
Oget=EH| 4,480
—SH=2HEA2d=57Y
8, 0003 x255*28H x80%<& 2> 4,480
206 =4l 4,000 4,000
01 M=4l 4,000 4,000
OUE=MH2=tHE M=l 4,000




SN BR=XD
BH: 250lSEl
chel: 2tollEX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SHRHHESHHE R
20,0002 *2507H 80! 24> 4,000
ReD 2EHE = ARIEADY =4 870,565 810,901 50,664
2 29,334
Al 14,667
- 806,564
SIEAITZH el 870,565 810,901 59,664
2 29,33
Al 14,667
v 806,564
ZEFC0 4] 200,788 197,398 3,320
101 21248 165,036 161,741 3,29
VBIELEEDI=T=E 165,036 161,741 3,29
ORCIBIRA VALY (SH2HRSEE)
88, 16021133 1802 +BI<E 2> 165,036
201 Ler2gy| 26,072 25,977 %
01 MR22IH| 17,200 17,200 0
OYsgt| 17,200
e ENEE R IOV
80, 00021 #50H 1025 +80%<E 24> 3,200
—PRIRYETTY(E0IS)
8, 00021 #407H» 102560 24> 2,560
—EIHPY(S4852S)
80, 00021 #4 H+ 1575 +80<Z 24> 3,840
—JIEHARETY(OIHS)
7,000+ 1800H+5 5 180< 24> 5,040
—JIEFHLS B 4Ot
40,0002 +200H 475 +80<E 24> 2,560
02 232l 8,872 8,777 %
SEEET 3,972
—32R7Y
1,64221+5  +BLH+602L x0T 21> 2,628
—cce 7Y
7,0002143.5 0 8L 52+ 24> 784
—ozeURY
5,00021+3.5 £ *8CH 52 +BE 26> 560
OAN & ISR 3,700
— 2RISRl (SRR
500,0004*1CH 500
— eI FHI2 (RURIDIAS)
400,00024+8CH 3,200
SEET 1,200
—SNXIRE 8,0002! 10+ 15 1,200
206 T2l 9,680 9,680
o1 2t 9,680 9,680
ORCIBHIX R HE Y| 9,680




SN BA=X
M AL 23E = AILISA32E XM
SRl AIRISASE 2 (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
N SEECPENEED
40,0002 60 £ *80%<E 2> 1,920
—&C 22 Z2AFH L
50,000& *50 £ *B0%<E 2> 2,000
—xALBRIBH 2 PY
14,0002 *300E x80%<E 2> 3,360
~EFABRASHLH T
30,000 *100H *80%<& 2> 2,400
S8 3 qA2a 383,276 330,874 52,402
201 LEr2AH| 164,482 147,349 17,133
01 AtR2t2lb| 18,653 18,257 396
Ogt~ZH]| 18,653
— MY I ESHMEERL
3,300 *600H * 128 *80%<E 2> 1,901
— & DM 2te| CHEl 2=4= 2 (400KW)
308,000+ 12& 3,696
— A OFM 22| CHEH 2= 2~ 2 (350KW)
244 0003« 12& 2,928
L EEN ]
466,000 x4 4 A +23| 3,728
—SRIEAALEBES
100,000 x4 H 2 x 122 x80%< A 2> 3,840
—=dAL2C=S
8, 000& *40H* 10 *x80%<& 2> 2,560
02 SZ22ZH| 145,829 129,092 16,737
OZ2Z22YHA 73,434
— Ao ER2(HEZ2H)
3,253,500« 12& 39,042
—&IIQS(HEZ2Y)
2,800,000& 128 33,600
—N3LZ2(SMHMEHLKOI=HEH)
33,0002 *x2CH* 128 792
OdZH| 3,412
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7,000 %3.5 £ *BLH x5 x80%<E 2> 784
OAIE &R XIB] 68,983
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4,000, 0002 x30H A +80%< & 2> 9,600
—2AESXHI(HE2H) 1,883
22| AH25E 1)
5,027 & %287 . 17m 1,444
MNEALZZ=GIEA(2S)
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—22 A=K A
500,000 *x41JH A *80%<E 24> 16,400




A SE=AL
g o 238 e AMYUsAS2 &
SRl AFASE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—zAS+2IFY|
50,0002 *500S+80%<E 2> 20,000
—SMHOIZAIERABI(S+=5)
400,00021+4 7| 1,600
N L N
1,500,000 132 19,500
206 Mzl 9,200 9,200
ED 9,200 9,200
OBaNLES 9,200
—2Y - 24HIES
150,000 x36S+80%<& &> 4,200
— XM (A2, HUER, IYS)
5,000 501 *B0%<E Z> 200
—&42= 20,0003 3007 =80%< & 2> 4,800
401 AlEHIZ S 0HbI 205,469 170,200 35,269
01 AlZH| 204,000 169,000 35,000
OUE SR 2CIAL 204,000
— &S X2 (ME) A
60,000,000 60,000
— =S XL EHIALY 29,000,000 29,000
—C-RAESSEUIAE
40,000,000& 40,000
—==0AIE2EHIAIE 40,000,000 40,000
—SAXHEHZENE LI S22 ALY
35,000,000 35,000
03 Al 20HHI 1,469 1,200 269
OUE SR 2CIA 1,469,000 1,469
405 KHaHF S| 4,125 4,125
01 ML ESFSHI 4,125 4,125
Otz S 4,125
—0=2| 528,000 *5CH 2,640
—0X==HI(DRERIN)
660,000 *1CH 660
—E2J1(2201) 825,0002!» 1CH 825
HEHSE RA2el 227,833 223,961 3,872
101 @12A4H| 193,953 190,081 3,872
04 JIZtN22 XS 2+ 193,953 190,081 3,872
QMBS 2R S(BHEEESEE)
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88, 1602 x2 & +60 2 xB0%<E &> 8,464
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BHEEESHS)
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— &Gt ER3 50,0003 *12& 600
OAIZEHIR I 9,000
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ol 2| 847,811 797,082 50,779
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01 24 9,351 81,465 10,886
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03 SRE(PIHA)2E2NHE S 751,715 711,949 39,766
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50,0002 +2% * 122 1,200
—HESIHI
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—SIELY 3,720
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Oget=2H| 7,980
—2N2gLE|
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32,9002 x4CH+12& 1,580
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D=L EF0Y|
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